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= 8,963,812
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< 6,156,940
s 8,629,762
s Uy 84 25,252,394 24,575,457 676,937
= 8,963,812
s 1,649,000
< 6,156,940
s 8,482,642
o ==& EXR N 1,831,859 3,334,766 A 1,502,907
= 415,089
< 407,794
[ia 1,008,976
o 2r==4at2d 2te| 74,150 58,890 15,260
201 Let24d] 54,830 40,030 14,800
01 At 22l 11,950 11,950 0
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50,000 =17 K 850
O ol ZZAE=S2E 8,500,000 14 8,500
O SHY+MEY A2 S2OHAY)
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02 =224l 42,880 28,080 14,800
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10,000, 000& * 14! 10,000
O &&d MIXNsSI &3
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500,000& *43] 2,000
O &8 MIANSI B8 1,000,000 =13 1,000
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1,000,000& »12& 12,000
O Z8 & F&2X2FH X224 5,000
O d3AN ZREH Ald |2l 10,000
202 oddl 14,320 13,860 460
01 = LH o4 1l 14,320 13,860 460
O HYLMAE B2 S HY+MIUY 29
HEFT M 14,320
307 glz2+ol & 5,000 5,000 0
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o otMEH K& 5,400 5,400 0
< 1,620

- 209 -




S A off 2 ==4tmt
A

Hu: Qs MY B4
SRl He=MOENB NS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 3,780
307 glz2tol & 5,400 5,400 0
< 1,620
s 3,780
04 QIZFHALAIH E &= 5,400 0 5,400
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< 1,620
[ia 3,780
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[ia 70,710
101 @14l 125,000 100,000 25,000
2 87,500
[ia 37,500
4 JI2ZtHZ22 a2+ 125,000 100,000 25,000
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2 87,500
s 37,500
201 ¢er24| 102,710 121,430 A 18,720
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s 30,810
01 At 22l 32,710 41,430 N8,720
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[ia 6,000
03 & AL2 Gl 70,000 80,000 210,000
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02 2324l 16,680 16,680 0
O SMZDFEFAHLHH AHY 0223
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40,000& x12& 480
O SAZDEAMEHH MRS
1,000,000& »12& 12,000
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= 600, 0003 » 14! 600
O HMEDHFHLEHH AIEE A 22|
3,000,000 » 14 3,000
MAHZe|0SHHMEN X7 25 2el 123,860 53,860 70,000
101 @124 dl 12,000 12,000 0
04 JI1ZtHZ2HEE 12,000 12,000 0
O MAZeI0lY HEHEHX P2 HE=2Y 2
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R, BAER & AT EH|) 3,960
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AU A AT H 250,000 x6CH x 1A 1,500
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= 20,880
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= 20,880
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02 BIZtXIEANYEX(0OIETHH) 69,600 69,600 0
O +M2SUM U oHEAEA
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O @Yy YBIE AT ANEHS
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= 27,825
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402 SI2FXHE20| & 55,650 55,650 0
= 27,825
&< 8,347
= 19,478
02 BIZtXIEANYEX(0OIETHH) 55,650 55,650 0
O 3L ETHX S 55,650
= 27,825
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| o 49,980
OENEOS MREHEXNE ALY 54,675 65,610 A 10,935

= 27,338

< 10,935

s 16,402
307 glz2tol & 54,675 65,610 A 10,935

= 27,338

< 10,935

s 16,402
02 It M AHE L 54,675 65,610 A 10,935

O HENEOISAREHEXN A ALY 54,675

= 27,338

< 10,935

s 16,402
O & AlE 2tel 42,257 128,150 A 85,893
101 @124 dl 11,897 18,790 A6,893
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01 AFR 22l 2,760 2,760 0
O og=24 HI(SHHASEX, AR S
22FHl) 230,000& 1204 2 2,760
02 2324l 27,600 21,600 6,000
O FAZE IHES MRS
550,000& 1201 & 6,600
O A& 15,000, 0003 * 14! 15,000
O FAZE 2=
500,000& » 1204 & 6,000
g oE S9H 160,020 738,700 A 578,680
= 64,008
a 96,012
201 LEt2A | 900 0 900
< 360
a 540
02 3224l 900 0 900
O oasa=g A =X 2 ==l 900
& 360
= 540
202 Oddl 3,120 3,700 A 580
< 1,248
= 1,872
01 =LHOI I 3,120 3,700 A 580
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< 1,248
[ia 1,872
301 LA F 156,000 735,000 A 579,000
< 62,400
i 93,600
12JIEt2 43 156,000 735,000 A579,000
O ==& - HE SAAIX XNE A 156,000
= 62,400
i 93,600
Y98 &= Z22x% 222 3,600 0 3,600
101 14 Hl 3,600 0 3,600
04 JIZHHZ2XNSE S+ 3,600 0 3,600
O 25 &= Zd22F =8 M=xg & &
&l 150,000& »2H 3 43| 3,600
DE ASHAIHMHE 2122 50,000 0 50,000
401 AIEHI L 2CHYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O D& ASHAEBHE ==U S A& SA
50,000,000& =14l 50,000
A G =2 FHAY 100,000 0 100,000
401 A& HIZ 201 8] 100,000 0 100,000
01 A& HI 100,000 0 100,000
O & 2R3 == ZHISA 100,000
M MEXNEE SIMHAEY 70,000 0 70,000
= 70,000
402 RI2HXt20l ™ 70,000 0 70,000
< 70,000
02 It 2 AL EZ (OIS ) 70,000 0 70,000
O otENEXNEE SAMLAEY
70,000,000& =14 70,000
< 70,000
ot& el2stsXdE XE ALY 50,000 0 50,000
< 50,000
402 RI2HXt20l ™ 50,000 0 50,000
< 50,000
02 2IZt 2 AL EZ (01X TH ) 50,000 0 50,000
O ot =X2sEEH OlsaARA &X
30,000,000 =14 30,000
= 30,000
O ot =XN2sHdEH FHIA
20,000,000& =14 20,000
< 20,000
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401 AIEHIZL 201 Y| 58,500 0 58,500
o= 17,500
= 41,000
01 Al&H| 58,500 0 58,500
O gol otEALD ole KRS EXAY
5,850,000 * 1004 & 58,500
& 17,500
= 41,000
HE =402 S35 BH X4 AIEHAEY 120,000 0 120,000
= 60,000
= 60,000
402 SI2vXH=20| & 120,000 0 120,000
o 60,000
= 60,000
02 QIZEXIEAISE X (0| XM THL) 120,000 0 120,000
O HE =42 E3t & X4 AIBEAY
200,000,000& *60% 120,000
== 60,000
= 60,000
MUYXNE Z2)d 29 100,000 0 100,000
o= 50,000
= 50,000
201 et d]| 100,000 0 100,000
o= 50,000
= 50,000
03 HAI2 G Y| 100,000 0 100,000
O dlegxs Z20d 29 100,000
& 50,000
= 50,000
HEASZAYI|BIAIE &= 2,131,000 4,075,700 AN 1,944 700
Fag 1,049,000
& 135,000
= 947,000
2|02 SN AL (HEAIY) 632,000 1,068,000 A 436,000
403 XX SHHS K201 & 632,000 1,068,000 A 436,000
02 BI2SHUSXAE2ERAEAIS Y 632,000 1,068,000 A 436,000
O 2|02 S ALY 632,000
= HESENY ALY 1,499,000 2,091,000 A 592,000
g 1,049,000
& 135,000
= 315,000
403 XX SHS K20 & 1,499,000 2,091,000 A 592,000
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e 1,049,000
< 135,000
= 315,000
02 S 2S0HHEAEE A E AL H 1,499,000 2,091,000 A 592,000
O 3¢ HESEHE ALY
1,499,000, 000& 14 1,499,000
as 1,049,000
< 135,000
[ 315,000
HEIIBAIE &= 10,761,228 11,199,713 A 438,485
= 7,359,870
s 300,000
< 1,160,268
i 1,941,090
SEMMNEX R 300,000 300,000 0
s 300,000
401 Al HIZ 201 Y| 300,000 300,000 0
s 300,000
01 A& HI 297,900 300,000 A2,100
O Us: TASENLAY
297,900,000 =14 297,900
s 297,900
03 Al SR THHI 2,100 0 2,100
O AM&=20Udl 300,000,000& *0.7% 2,100
s 2,100
HHMEH =R 97,000 628,714 AB31,714
403 XIS E X201 & 97,000 628,714 AB31,714
02 SO 2SO0 HEHAHE X 2 E AL 97,000 628,714 AB31,714
O DE HHUEH S|A(2LHE)
97,000,000& » 14! 97,000
HHAMSHA T4 (MSAY) 428,000 36,000 392,000
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i 214,000
401 Al HIZ 2 048I 428,000 36,000 392,000
= 214,000
e 214,000
01 A& HI 428,000 36,000 392,000
O 2y A2d JIHAL 25
428,000,000 » 14! 428,000
< 214,000
e 214,000
oI 2H2el 23,881 23,599 282
101 @124 dl 5,863 5,581 282
04 JIZHHZ22REE S 5,863 5,581 282
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202 o4l 5,300 5,300 0
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01 XHZ H| 10,000 10,000 0
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O &3 HERY 300A (KHA) 132,047
=L & HERY 300AtE 2,857,050 3,827,200 A 970,150
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< 240,000
[ia 240,000
02 QIZE 2 A EZ (01X THS) 480,000 720,000 A 240,000
O =4S XINMSAEXE A
800,000,000& 14! x60% 480,000
< 240,000
e 240,000
=M P HAUE XS 9,000 9,000 0
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O LA IR XA (S &)
60,000,000& * 14l x60% 36,000
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O 2YUAE JIIEZ2H AIE2 A 224
10,000,000 » 1Al 10,000
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